
 
813RC 

813LB 

M6 x 50 DIN7380 

817 + Ø 12 x tl.26 

M6 DIN 985 
818-40mm + M8 

DIN934  
 

M6 x 25 DIN7991 

M8 x 30 DIN 7991 
+ Ø 22 x tl.6 

 

M6 x 12 DIN7991 

 8300 M6 x 35 DIN7380 

816L + Ø 12 x tl.9 

M6 DIN985 

 
 

M8 x 40 DIN912 

807Z 

M8 x 35 DIN7991 

+ Ø 22 x tl. 9 

 

8940 

M8 x 35 DIN912 

Ø 22 x tl.12 

807Z 

818.118mm  
 

APRILIA RSV4/Tuono 1100,   
17 –   

Part.nr. 507 
 

810S 
2 x M6 x 12 DIN7991 

 

 THREADED ROD M6R + 
2x M6 DIN934 

 507D 

M6 x 12 DIN7991 

M8 x 30 DIN7380 

EXTR.cod.820 
M6 x 25 DIN7991 

M6 DIN934 

M8 x 10 DIN7380 

2066 

M4 x 12 DIN912 


